VERSION 1.6

SIMPLESEAL

BRACKETS

FASTENER

SI M PLESEA WATERTIGHT SEAL FOR
ECOFASTEN BRACKETS

PRODUCT PART PART BOX PALLET
IMAGE NUMBER DESCRIPTION QUANTITY QUANTITY

BOTH PARTS ARE REQUIRED FOR PROPER INSTALLATION, BUT SOLD SEPARATELY IN PACKAGES OF 50

SIMPLESEAL EPDM
‘ 3016015 BUSHING (50) 50/10000 80000

EPDM BOND WASHER
3016014 S5 313" (51) 50/5000 315000

INCLUDES (1) 3/8"-16 X 11/4” HEX BOLT AND (1) 3/8"-16 FLANGE NUT FOR RACKING

2012022 CF UNIV L-FOOT MLL 3 50 1800
(NO HARDWARE NEEDED)

3011018 L-FOOT SCL-101 BLK 3" 50 6000

3011015 L-FOOT L-102 BLK 3" 50 6000

3011017 L-FOOT SCL-101 MLL 3" 50 6000

3011016* L-FOOT L-102 MLL 6" 50 2400

INCLUDES (1) 2" LAG BOLT AND (1) SS 8-18 X 3/4”" TEK SCREW

MLL

INCLUDES (1) 4” LAG SCREW AND (1) EPDM BONDED WASHER (PRE-ASSEMBLED)

2011013 RI COMP SLIDE AL BLK 50 3600

INCLUDES (1) 5/16” EPDM BONDED WASHER

LAG SCREW SS .313X4"
3016017 W/BW (50 50/500 22500

-\% 3011010 CONDUIT BRKT COMP 0 10350

* SPECIAL ORDER ITEM

{@»EcoFusten@ 4141 W. VAN BUREN

An Esdec Solar Group Company 1-877-859-3947

SIMPLE SEAL

‘ a
N— 3016015

3016014
CHOOSE YOUR BRACKET:
j gj
2012022 3011015 3011017
3011018

3011010 3011016* 2011013

ST, SUITE 2, PHOENIX AZ 85009
INFO@ECOFASTENSOLAR.COM



